
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(تبسيط تعبيرات الأس (متغيرين

6x × y (x × y )(−6) (−6) (−3) 3 (−3)

8 × y (x )(−3) 2 2
2x × y (x × y )(−5) (−2) 6 6 (−3)

8 × y x (x ) x (y )2 6 (−3) (−1) (−3) 4 5

9 × y (x )(−3) 3 4
6x × y (x × y )9 (−4) 6 6 3

6 × y x (x ) x (y )3 (−5) (−3) (−2) (−1) (−2) 4

2 × y (x )(−2) 3 4
3x × y (x × y )(−7) (−2) 5 5 4

9x × y (x × y )2 2 3 3 (−1) 9 × y x (x ) x (y )(−3) (−1) 3 6 3 3 2

3 × y (x )(−1) (−2) 2
4x × y (x × y )9 (−2) 2 2 (−2) 6x × y (x × y )(−5) (−5) 6 6 4
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6x × y (x × y )(−6) (−6) (−3) 3 (−3)

y15
6x3 8 × y (x )(−3) 2 2

2x × y (x × y )(−5) (−2) 6 6 (−3)

4x y27 17
1

8 × y x (x ) x (y )2 6 (−3) (−1) (−3) 4 5

8x y6 22 9 × y (x )(−3) 3 4

6x × y (x × y )9 (−4) 6 6 3

x y
3
2 15 17

6 × y x (x ) x (y )3 (−5) (−3) (−2) (−1) (−2) 4

y5
6 2 × y (x )(−2) 3 4

3x × y (x × y )(−7) (−2) 5 5 4

xy
2
3 20

9x × y (x × y )2 2 3 3 (−1)

xy
9

9 × y x (x ) x (y )(−3) (−1) 3 6 3 3 2

9x y20 3

3 × y (x )(−1) (−2) 2

4x × y (x × y )9 (−2) 2 2 (−2)

3y5
4x9

6x × y (x × y )(−5) (−5) 6 6 4

6x y19 19

www.snowmath.com

https://www.snowmath.com

